1 -] var

2 n, m: integer;

- - begin

5 readln (n, m);

6 writeln((n * m + 1) div 2);

7 - end.

1 £ var

2 n, a, num, p: integer;

- S begin

5 readln(n, a);

6

7 if a < 6 then p := 6 - a

8 else p := 13 - a;

9

10 while (p < 13) and (p mod 2 = 0) do
11 p :=p t+ 7;

12

13 num := ((p - 13) div 2) + 1;

14 n := ((n — num) div 7);

15 writeln(n);

16 Lend.

17

1 Hvar

2 5: string;

3 i, j: integer;

4 a: array [1..3] of byte;

E Hbegin

7 for j := 1 to 3 do

8 begin

g readln (s) ;

1 for 1 := 1 to length(s) do

11 begin

12 if (s[1] »>= 'A') and (s[i] <= 'zZ') then
13 s[i] = 'A';

14 if (s[i] »= '0'") and (s[i] <= '9') then
15 s[i] = '0";

16 end;

17 if length(s) = 5 then begin

18 if (s[1] = 'A') and (s[2] = 'A') and (s[3] = '0') and (s[4] = '0') and (s[3] = '0")
198 then

20 aljl := 2

21 end

22 else

23 if length(s) = & then begin

24 if (s[1] = 'a') and (s[2] = 'A') and (s[3] = '0") and (s[4] = '0') and (s[5] = '0") and (s[€] = '0")
25 then

26 aljl := 3

27 else

28 if (s[1] = '&a') and (s[2] = '0") and (s[3] = '0') and (s[4] = '0'") and (s[5] = '"&') and (s[&] = '"&A")
29 then

aljl =1

31 else

32 if (s[1] = '0') and (s[2] = '0') and (s[3] = '0') and (s[4] = '0'} and (s[53] = '&') and (s[&] = '"A'")
33 then

34 aljl := 4

35 else

36 afjl =0

37 end

38 else

39 aljl := 0;

40 end;

41 for i := 1 to 3 do

42 writeln(al[il):

27 Lend.
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El var

Hbegin

i, m, a: integer:

readln (n);

if n < 10 then

begin
writeln(n):
exit:

if (n »= 10} and (n «= 18) then
begin
a := 0;
for 1 := 10 to n do
a = a + 11:
writeln(a):
exit;

if (n > 18) and (n <= 108) then
begin

a = 90;
for i := 1% to n do
begin

if (a div 10) mod 10 = 2 then

a = a + 101 - 90
el=se
a := a + 10;
end;
writceln (a);
exit;

if (n » 108) and (n <= 198) then
begin
a = 930;
for i := 109 to n do
begin

if {(a diwv 10) mod 100 = 232 then

a = a + 1001 - 89890
else
a + 110;

1]
I

end;
writelni(a);
exit;

if (n » 1%8) and (n <= 1028) then
begin

a = 9930;
for i := 1599 to n do
bkegin
if (a div 100) mod 10 = 9 then
begin
if (a div 10) mod 1000 = 9232 then
a := a + 10001 - 9530
else
a = a + 1010 - 900;
end
else
a := a + 100;
end;
writelnia):
exit;

if (n » 10%8) and (n <= 1938) then
begin

a = 993380;

for 1 = 10%% to n do

begin

if (a div 100) mod 100 = 23 then

begin
if (a div 10) mod 10000

then



77 a := a + 100001 - 98950
78 else
75 a = a + 10010 - 9900
BO end
g1 else
a = a + 1100

end;

writeln{a):

exit;

if (n > 1928) and (n <= 10998) then

9 begin
S0 a := 999330;
91 for i := 19295 to n do
begin
if (a diwv 1000) meod 10 = 9 then
begin
if (a div 100) meod 1000 = 993 then
begin
if (a div 10) med 100000 = 25353 then
a := a + 1000001 - 9993990
else
a := a + 100010 - 99900
end
el=se
a = a 4+ 10100 - 9000;
end
els=e
a = a + 1000
end;
writeln{a);
exit;
end;

if (n > 10998) and (n <= 19298) then

begin
a := 99599390,
for i := 10292 to n do
begin
if (a div 1000) mod 100 = 2% then
begin
if {a div 100) mod 10000 = 9933 then
begin
if {(a div 10) meod 1000000 = 9989393 then
a := a + 10000001 - 9999380
else
a := a + 1000010 - 999900
end
else
a := a - 99000 + 10010Q0;
end
el=se
a = a + 11000;
end;
writeln(a);
exit;
end;

if (n>199%%E) and (n«=100000) then
begin

a:=9899935930;

for 1i:=19%2% to n do

begin
if (& diwv 10000) mod 10 = 3 then
begin
if (a div 1000) meod 1000 = 223 then
begin
if (& div 100) mod 100000 = 253255 then
begin
if (a div 10) mod 10000000 = 9339395955 then
a:=a-99999990+100000001
else
a:=a-99999%00410000010
end
else
a:=a+1000100-399000
end
else

a:=a+101000-30000




else

a:=a+10000;

160 end;

161 writeln{a):
162 exit;

163 end;




